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Preliminary Learning Outcomes. Mathematics
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P5

P6

pP7

P8

provides reasoning to support conclusions which are appropriate to the context.

performs routine arithmetic and algebraic manipulations involving surds, simple
rational expressions, and trigonometric identities. '

chooses and applies appropriate arithmetic, algebraic, graphical, trigonometric,
and geometric techniques.

understands the concept of a fimction and the relationship between a function and
its graph.

relates the derivative of a function to the slope of its graph.

determines the derivative of a function t]jrough the routine application of the
rules of differentiation.

understands and uses the language and notation of calculus.
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Girraween High School
Year 11
Mathematics Task 1
Wednesday, March 12, 2008

Instructions:  a) Write all of your answers on your own paper.
b) Show all necessary working,
¢) Marks may be deducted for careless or badly arranged work.

Time aliowed: 90 minutes

Question 1 . Marks
a) Find the exact value of 1 + 3 X 2 + 7 2
2 3) 3 6
b) Calculate the value of 4/1.6x 2.6 to 2 significant figures 1
c) ' Solve for x: §x+5=% 1
2 3

d) Giventhat b=x g°w , find the value(s) of gto 2 decimal places when 2
b=200 and w=10 .

e) Express 3.45 as a fraction in simplest form. 2



Question 2

a)

b) Express with a rational denominator and simplify:
5 1043
35
if) 4 + !
2+45  9+445
642
1i1) —_
N2 443
Expand and simplify:
) VBB
i) (1++6) (V6 -+2)
Question 3
a} Expand and simplify:

Simplify:

iy 4B 35)
) 548427 +543

)  2(p-g9)-32p-9)
ii) (ﬁl-rn2 - 3n)- (41712 + 3n)

ity (x-3)-(x—4)-(x+2)

Marks

Marks
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Ouestion 3 (continued)

b) Factorise fully:
i) -2xp* —6x%y
ii) 2m* —2m 84
1ii) 3p*-5p-2
iv) ¢’ —2ct+ec-2
v) x* —64
(N
Question 4
a) Simplify:
S
3 7
p p-3
3x
11i) 5 -
x“+5x+6 x+3
b) Simplify:
. w? —2w-8
1) —
w4+ w~-20
. b—a
il —_
) a b
c) Simplify:
. x—4 x*+x-56
1) 2 X 3 2
x°—49 x -4x
2 f—
) p—2 p —5p+b

p-3 ' p—7

Marks

Marks



Question 5 Marks

a) Solve the following equations:
i) Bm—1)-(m+2)=0 1
if) 4x* =-3x 2
iii) 4k* —15k =-9 3
iv) X X _¢ 3
x+1 2
b) Complete the square to solve (give the answer in surd form):
2 oz=1 3
c) Use the quadratic formula to solve the equation:
5x7+3x-1=0 3
Question 6 Marks
a) Solve each inequation, and graph your solution on the number lin e
i) —2x<7 2
i} -8<7x-1<13 3
b) Solve the following simultaneous equations:
i) 2x+3y =28 3
-3x—-2y=-27
il) 2x-y—-5=0 3

y=x"—4x+3

8!



Question 7

a) Indicate whether each of the following relations is a function or
not a function. State its domain.

1ii) y=—J4-x

b) Graph the fumction 5x -3y =15 , including any intercepts.

- .¢). . Graph the function.y = x* +4x 5 ,.including the vertex-and intercepts.

Marks
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